	20013585/44
1enneth	SSIGNMENT
From: Date:	Veh No: XD 6/36R 12
Estimated Cost:	YERAAN!
DIMINSITPRESIOD RESIEVAINVINV	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover / Truck / Trailer or
To Inspect Vehicle No:	
at Workshop m/s  / / // // // // // // // // // // // /	- Make: 1917 18 1517 c.c 128
of	Colour While / Green AC: Insured / Std / NI / NA
Insured:	Sp.Reading T/Radio: Insured / Std / NI / NA
Policy No.	Eng/No:
Claims No.	- CNO: FV5177 . 410015
Cum Incurs de	Gen. Cond: 800d   Fair / Poor / Burnt
(Client's Record)	Steering: Inorder / Jammed / Leaked / Burnt or
Make of Veh:	Brake: Inorder / Jammed / Leaked / Burnt or
	Modi: Will S/Rim / STD A/Rim or
(Dalley Constitute)	Tyre Size: F: Gi7' 1000 R20×16
(Policy Condition)	R:
Remark: The veh had commenced its  repair at the time of inspection.	BS / DUN / EXNOVA / GY / ES / LIZA / WIC / CUESWIE
	TOYOTYOKO or
Bal. or Market Value: \$38 -446	Front
IDAC Accident Rport: Consistent?: Yes or No	R/Rai 71 00
GIA / PR Seen: Consistent?: Yes or No	L/Bal. Promote R/Bal. 77 mm
Est. Repairs: days Res.: Yes or No	D.O.A. 7/12/20 D.O.I. 9/12/20
Lum Sum: 20 % 3 Val.: Yes or No	Survey held at
CA / REV / REP. / 24 HRS	
Vehicle: IN / OUT	Des. of Damages Fit   Rear   O/S   N/S   U/C   Rooftop or
· orsorr corrected;	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time Action / Instruction  Batter Flat	of official and the to collision.
7/67	
DER. ILIMAN BALLA POTOMONT	
100 JUN 82700 F	tinalise, lbdays
may 111001.091 721	
Date/Time, File Pass to?	
	Days Of Repair:
: Final Report	Resurvey No. of Tales
Date/Time. File Return to?	
Add Fee:	Site Insp (\$
eport Format:	Tech Invs (\$



# 金興(龔)汽車私人有限公司

160 Sin Ming Drive, #02-20,

Sin Ming AutoCity, Singapore 575722

Tel: 6452 7018 Fax: 6458 3895 Email: service@kkimhin.com.sg

Your Reference : Z/19VC06/105716

Accident Date

: 07-Dec-2020

Our Ref

: / MH

: 08-Dec-2020 Date

Page: 1

LONPAC INSURANCE BHD 300 BEACH ROAD

#17-04/07 THE CONCOUSE

Singapore 199555

## ESTIMATED COST OF REPAIR FOR MITSUBISHI FV51JJD4RDEA (2012) XD6634B

1 pc	front panel - outer		1 3,000.00 —
1 pc	front panel fuso emblem		My 260.00
1 pc	front panel logo		New 200.00 -
•	1	$\bigcirc$	120.00 Br 240.00 _
2 pcs	front panel domesor	(a)	120.00 240.00 <u>-</u>
1 pc	front panel damper		150.00
1 pc	front panel top grille		Mrs 500.00 -
1 pc	front panel lower grille		Res 100 -
2 pcs	front panel lock (LH/RH)	(a)	150.00 Bylon 300.00 _
2 pcs	front panel lock catch (LH/RH)	@	40.00 ~ 80.00 —
1 pc	front panel lock cable		195.00 7
1 pc	front panel centre lock		7 140.00
1 pc	front panel centre lock catch		95.00
1 pc	front panel inner seal		ne 80.00 —
2 pcs	front panel inner garnish (LH/RH)	$\bigcirc$	210.00 ( 420.00 2 7
1 pc	front panel centre lock bracket		Diy 90.00
1 pc	front panel - inner		<b>37</b> 4,700.00
2 pcs	front corner panel (LH/RH)	$\bigcirc$	550.00 CM 1,100.00
2 pcs	front corner panel seal (LH/RH)	$\bigcirc$	35.00 New 70.00
2 pcs	front corner panel side bracket (LH/RH)	$\bigcirc$	80.00 7
2 pcs	front corner panel centre bracket (LH/RH)	$\bigcirc$	90.00 7
2 pcs	front corner panel inner bracket (LH/RH)	$\widehat{a}$	90.00 180.00 ?
2 pcs	front corner panel inner seal (LH/RH)	$\overset{\circ}{a}$	65.00 130.00 7
1 pc	front bumper	0	N.C (B1) 1,850.00 X
1 pc	front bumper centre pad		245.00 X
2 pcs	front bumper side garnish (LH/RH)	$\bigcirc$	125.00 £ 250.00 X

SK0J20C80003 / K. KIM HIN AUTO PTE LTD ENTRY DATE & TIME: 08/12/2020 20:01 (SGT) SUBMITTED BY: Audrey Seah VERSION: 1 (08/12/2020 20:01 (SGT))



# SINGAPORE ACCIDENT STATEMENT

### IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

- 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

### ACCIDENT STATEMENT

Date of Submission Date of Accident Exact Location of Accident Additional Location Information Country/State of Loss

08/12/2020 20:01 (SGT) 07/12/2020 11:30 (SGT) Kranji Way, Singapore LAMP POST 5 Singapore

### DETAILS OF OWN VEHICLE

Vehicle Registration Number

XD6634B

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner Company Reg No **Email Address** Mobile Phone No Alternative Phone No

Yes LANDSCAPE ENGINEERING PTE LTD 1XXXXXX617N LANDSCAPE@SINGNET.COM.SG (Phone) +65-68832216 +65-68832216

VEHICLE PARTICULARS

Manufacturer Model Variant Exact purpose for which vehicle was being used at time of accident Are you claiming under your own insurance policy for repair to your vehicle? Vehicle Category

Mitsubishi FV51JJD4RDEA

Yes Commercial vehicle

INSURANCE COMPANY

Name of Insurance Company Type of Coverage Fleet Policy Policy Number Cover Note Number

Lonpac Comprehensive No Z/19/VC06/105716

DRIVER

Name of Driver Passport No/FIN Date Of Birth Occupation

VALLATHARASU RAMU FXXXX507R 25/10/1967 Indoor

Insurance Company Name

Nature Of Damage

Details of property damaged in accident

No. Of Passenger (Including Driver)

## SKETCH PLAN

Vigo vone	-			
	24 W	And the state of t	A: XD	6634B 5131S
	KRANJ1	A A		
		1	-	

DESCRIBE CIRCI							
FRONT	TIPF	ER	LORPY STOP R PO	STO	P.I	BRA	KE
BUT	Cours	NOT	STOP	IN	TIME	AND	HIT
VEATC	E 3	REA	R PO	72T107	<b>√</b> ·		
V1-616							
i() 2x	E IN	WELD.					
NUDI							
***************************************							
ECLARATION							
We declare the fo	regoing particula	irs are true in e	every respect.			-	HIN AUT
		l'oi	(9)			1/VVV	7 (\$\frac{3}{5}\begin{picture}(150.00) \text{TEL:} \\ \frac{3}{5}\end{picture}(150.00) \\ \frac{3}\end{picture}(150.00) \\ \frac{3}{5}\end
olicyholder's Signal	7 710	Driver's Sig	nature	ader 1 me at disciple eller de re	Reporting	ntre Personnel's	Signature *

## > Back to OneMotoring

## **Enquire PARF/COE Rebate for Registered Vehicle**

Vehicle Owner Particulars	
Owner ID Type:	Company
Owner ID:	617N
Vehicle Details	
Vehicle No.:	XD6634B
Vehicle to be Exported:	No
Intended Deregistration Date:	08 Dec 2020
Vehicle Make:	MITSUBISHI
Vehicle Model:	FV51JJD4RDEA
Primary Colour:	White
Manufacturing Year:	2012
Engine No.:	6M70454320
Chassis No.:	FV51JJA10015
Maximum Power Output:	-
Open Market Value:	\$109,349.00
Original Registration Date:	28 Dec 2012
First Registration Date:	28 Dec 2012
Transfer Count:	0
Actual ARF Paid:	\$5,468.00
Intended PARF Rebate Details	
PARF Eligibility:	No
PARF Eligibility Expiry Date:	
PARF Rebate Amount:	\$0.00
Intended COE Rebate Details	
COE Expiry Date:	27 Dec 2022
COE Category:	C - Goods Vehicle & Bus
COE Period(Years):	10
QP Paid:	\$62,201.00
COE Rebate Amount:	\$12,757.00
Total Rebate Amount: The information contained herein is correct as at 08 Dec 2020	\$12,757.00

The information contained herein is correct as at 08 Dec 2020

## SGCARMART.COM

Login Sign up

**New Cars** 

Used Cars

Rental Cars

Sell My Car

Products Directory

Insurance

**Articles** 

Forum

Resources

## The Useful Guide for Drivers Useful resources when you are on the move.

Carpark Rates | ERP Guide | Petrol Stations

Post an Advertisement Sell it yourself! Advertise it at just \$58 until it's SOLD! 2017 BMW 216D ACTIVE TOURER @ \$82800

LOWEST USED CAR INTERESTS RATE IN MARKET, 5 YEARS AGENT WARRANTY, 12/12

Post an Ad

Advertiser Login

Make

Ways of Selling

Hamilton Autohub



Browse by Category V

mitsubishi fv

Mitsubishi Fuso Super Great

Model

Price

Depreciation

Red Date

Eng Cap

Any

Mileage

Any

Sort by Date Posted

Veh Type

10

20 results/page 💙

Status

**Search Selection** 

1 vehicles

mitsubishi fv

Any

\$68,800

\$32,530 /yr

Any

21-Jan-2013

2013

12,882 cc

Truck

Any

Available

Available



Fuel Type: Diesel

FV51J

10 Wheeler Mitsubishi Hooklift Garbage Wagon With Roll On/off. Palift Hooklift. Very Well Maintained By Previous Owner. Bank/In-house Loan Available. Trade In Welcome.

Posted: 30-Nov-2020 Tags: 2013 Mitsubishi Fuso, Mitsubishi Fuso, Mitsubishi, Fuso

Save this search criteria, to get email alerts whenever a match is found.

Model

Price

Depreciation

Eng Cap

Mileage

Veh Type

Status

✓ results/page

For old advertisements, view Expired ads

Home

sgCarMart is the number one car classifieds for parallel import cars, Toyota, Honda, Nissan, Mitsubishi & BMW. There are plenty of cars for sale, from vans, trucks, sedan cars, luxury cars, sports cars or stationwagons, SUV, MPV, hatchback, to COE cars & OPC cars. You can also buy from a car auction, look up car loans, financial services, low mileage cars, car brands, carpark rates & car insurance. Find buy used mitsubishi fv, mitsubishi fv Singapore, used mitsubishi fv Singapore, used mitsubishi fv, used vehicles Singapore or even buy used mitsubishi fv Singapore. We have new car dealers comprising parallel importers, authorised car dealers, and used car dealers on our site. Find new car price lists, new car launches and new car promotions. Visit our partner sites for job openings for Singapore jobs, real estate, mover, car performance parts, car discussion, forum discussion, commercial vehicle leasing & COE results.

New Cars Used Cars Rental Cars Sell My Car Directory Products Insurance Article Forum Resources

All prices and other information displayed on sgCarMart.com are gathered from sources and based on algorithms that are believed by sgCarMart.com to be reliable, but no assurance can be given that this information is accurate, complete or current. sgCarMart.com does not assume any responsibility for errors or omissions or warrant the accuracy of this information.

### Follow sgCarMart.com

About Us | Careers | Contact Us | Sitemap | Terms of Service | Privacy Policy | Personal Data Protection Statement ©2004-2020 sgCarMart, Singapore. All rights reserved.

SGCARMART.COM

Sign up Login

**New Cars** 

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources

Post an Advertisement Sell it yourself! Advertise it at just \$58 until it's SOLD!

Post an Ad

Advertiser Login

V

Make

Ways of Selling

10/2016 BMW 216D GRAND TOURER 1 OWNER @82800



UNDER WARRENTY BY PML FULL SERVICE RECORD, ACCIDENT FREE, VIEW TO BELIEVE Hamilton Autohub

Free VICOM evaluation Free grooming and 6 months maintenance In-house workshop ensures quality service
 Member of SVTA and hire purchase association 100% deposit refund for unapproved loan YONG LEE SENG MOTOR PTE LTD

Browse by Category

Sort by Date Posted

Any

20 results/page

2 vehicles

mitsubishi fv

Model

Price

Depreciation

Any

2014

Mileage

Veh Type

Any

Sa.

Available

Status.

Search Selection

mitsubishi fv

\$45,800

Any

\$12,650 /yr

23-Jul-2014

11,967 cc

Eng Cap

Any

Truck

Available

**FV51S** Fuel Type: Diesel

Very Powerful And Reliable FV51S 80 Ton Prime Mover. New Spray Work. 100% Loan Available. Easy Approval. High Value Trade In For Your Vehicle, View To Believe. Interested Party, Please Contact Us To Test Drive And Find Out More! We Are Pleased To Serve You.

Bell Auto Pte Ltd

Posted: 20-Oct-2020 Tags: 2014 Mitsubishi Fuso, Mitsubishi Fuso, Mitsubishi, Fuso

Mitsubishi Fuso Super Great **FV51S** 

Mitsubishi Fuso Super Great

\$45,800

\$12,650 /yr

23-Jul-2014

11,967 cc

Truck

Available

Fuel Type: Diesel

3 Months Warranty! Powerful And Reliable 2014 FV51S 80 Ton Prime Mover. New Spray Work. Vehicle Is Well Maintained And In Great Condition! 100% Loan Available. Easy Approval. High Value Trade In For Your Vehicle, View To Believe. Interested Party, Please Contact...

Bell Auto Pte Ltd

Posted: 16-Oct-2020 Tags: 2014 Mitsubishi Fuso, Mitsubishi Fuso, Mitsubishi, Fuso

Save this search criteria, to get email alerts whenever a match is found.

Make

Model

Price

Depreciation

Rec. Date

Eng Cap

Veh Type Mileage

Status

For old advertisements, view Expired ads

✓ results/page

Home

New Cars Used Cars Rental Cars Sell My Car

Directory Products Insurance Article Forum

Resources

sgCarMart is the number one car classifieds for parallel import cars, Toyota, Honda, Nissan, Mitsubishi & BMW. There are plenty of cars for sale, from vans, trucks, sedan cars, luxury cars, sports cars or stationwagons, SUV, MPV, hatchback, to COE cars & OPC cars. You can also buy from a car auction, look up car loans, financial services, low mileage cars, car brands, carpark rates & car insurance. Find buy used mitsubishi fv, mitsubishi fv Singapore, used mitsubishi fv Singapore, used mitsubishi fv, used vehicles Singapore or even buy used mitsubishi fv Singapore. We have new car dealers comprising parallel importers, authorised car dealers, and used car dealers on our site. Find new car price lists, new car launches and new car promotions. Visit our partner sites for job openings for Singapore jobs, real estate, mover, car performance parts, car discussion, forum discussion, commercial vehicle leasing & COE results.

All prices and other information displayed on sgCarMart.com are gathered from sources and based on algorithms that are believed by sgCarMart.com to be reliable, but no assurance can be given that this information is accurate, complete or current. sgCarMart.com does not assume any responsibility for errors or omissions or warrant the accuracy of this information.

### Follow sgCarMart.com

About Us | Careers | Contact Us | Sitemap | Terms of Service | Privacy Policy | Personal Data Protection Statement ©2004-2020 sgCarMart, Singapore. All rights reserved.

Your Reference : Z/19VC06/105716

Our Ref : 020 / MH

2 pcs	horn	<u>a</u>	80.00	Sin 160.00 A
1 pc	wiper washer tank			nu 185.00
1 pc	wiper washer tank motor			em 240.00 —
1 pc	wiper panel			By 620.00
2 pcs	wiper linkage	@	110.00	220.00 7
1 pc	wiper linkage motor			245.00 X
3 pcs	wiper arm (LH/RH/CTR)	@	95.00	nes 285.00 —
3 pcs	wiper blade	@	40.00	as 120.00 —
2 pcs	wiper panel outer handle (LH/RH)	@	220.00	Del 440.00 —
1 pc	air con blower			1,200.00 7
1 pc	air con cooling coil			1,450.00 7
1 pc	air con heater unit			1,700.00
1 pc	air con heater unit inlet hose (1)			95.00 7
1 pc	air con heater unit inlet hose (2)			145.00 7
1 pc	air con heater unit connector bracket			100.00 7
1 pc	air con heater unit outlet hose (1)			95.00 7
1 pc	air con heater unit outlet hose (2)			145.00 7
1 pc	air con liquid pipe			340.00 7
1 pc	air con discharge pipe			460.00
1 pc	air con suction pipe			480.00 7
2 pcs	front signal lamp (LH/RH)	@	250.00	500.00 X
1 pc	dashboard outer air vent			cm 160.00
7 pcs	air matic pressure air tube- top	@	90.00	630.00
7 pcs	air matic pressure air tube- lower	@	90.00	630.00
1 pc	air matic pressure valve			340.00 7
1 pc	front cabin tilt torsion bar			$1,950.00 \times$
1 pc	cabin tilt torsion bar inner shaft			$f_{\sim} 2,050.00 \text{ X}$
2 pcs	cabin tilt torsion bar top rubber stopper	@	35.00	70.00 X
2 pcs	cabin tilt torsion shock absorber (LH/RH)	@	520.00	1,040.00
2 pcs	cabin air matic absorber stopper	$\bigcirc$	1,100.00	2,200.00
2 pcs	front cabin mounting (LH/RH)	@	550.00	1,100.00
1 pc	intercooler			Par 4,500.00
1 pc	radiator			3,800.00
1 pc	radiator fan blade			360.00
1 pc	radiator fan clutch			850.00 7
1 pc	radiator space tank			220.00 7
1 pc	oil cooler			$S \sim 1,650.00 \text{ X}$

Page: 2

Your Reference: Z/19VC06/105716

Our Ref

: 020 / MH

2 pcs	engine mounting (LH/RH)	@	460.00	920.00 7
2 pcs	gearbox mounting	@	300.00	600.00
2 pcs	door outer piller (LH/RH)	$\bigcirc$	2,300.00	17 4,600.00 X
2 pcs	front door hinges - top(LH/RH)	@	165.00	<i>7</i> 330.00 ≺
2 pcs	front door hinges - lower (LH/RH)	@	165.00	330.00 ×
2 pcs	front door checker (LH/RH)	@	95.00	190.00 4
2 pcs	front door weatherstrip	@	420.00	75 840.00 X
2 pcs	front door lock (LH/RH)	@	450.00	900.00 7
2 pcs	front door inner trimboard (LH/RH)	@	580.00	1,160.00 X
2 pcs	front door wheel arch inner garnish (LH/R)	@	380.00	760.00 7
2 pcs	front door frame weatherstrip (LH/RH)	@	295.00	590.00 X
1 pc	foot accelerator pedal			7 360.00 X
1 pc	foot brake pedal			
1 pc	foot brake switch			540.00 X
1 pc	dashboard top			2,900.00
1 pc	dashboard reinforcement			1,200.00
2 pcs	dashboard reinforcement bracket	@	340.00	680.00
1 pc	dashboard top inner trim			190.00
1 pc	n/s dashboard air con trimming			320.00
2 pcs	n/s dashboard air con lourve	$\bigcirc$	90.00	180.00 7
1 pc	n/s dashboard lower garnish			cm 390.00
1 pc	n/s dashboard lower garnish cover			90.00 7
1 pc	n/s dashboard lower side garnish			95.00
1 pc	dashboard centre console			580.00 7
1 pc	dashboard centre compartment			450.00 7
1 pc	dashboard centre panel trimming			330.00
2 pcs	dashboard centre air con lourve	$\bigcirc$	90.00	180.00 7
1 pc	dashboard air con switch controller			480.00 7
1 pc	dashboard instrument panel			CM 950.00 2
1 pc	o/s dashboard air con trimming			340.00 7
1 pc	n/s dashboard side cover			90.00 7
1 pc	o/s dashboard side cover			90.00 7
1 pc	o/s dashboard lower garnish - inner			390.00 2
1 pc	o/s dashboard lower garnish - outer			390.00
1 pc	steering column			360.00 X
1 pc	steering column shaft			1,400.00 X
1 pc	steering column shaft cone			1 250.00 X

Page: 3

Your Reference

: Z/19VC06/105716

Our Ref

: 020 / MH

1 pc	steering column shaft rubber cover	P 140.00 X
1 pc	steering wheel top cover	5 195.00 X
1 pc	steering wheel lower cover	√ 195.00 x
1 pc	manual gear shift lever	580.00 x
1 pc	front windscreen glass	cm 1,550.00
1 pc	front windscreen glass rubber	380.00
1 pc	n/s wing mirror stay	1,200.00
1 pc	n/s wing mirror stay top arm - outer	n 650.00 x
1 pc	n/s wing mirror stay top arm - inner	650.00 7
1 pc	n/s wing mirror stay bracket - top	110.00 7
1 pc	n/s wing mirror stay bracket - centre	90.00
1 pc	n/s wing mirror stay bracket - lower	EM 75.00
1 pc	n/s wing mirror - round	mir 185.00
1 pc	n/s wing mirror - big	Res 235.00 -
1 pc	n/s wing mirror - small	m-1 205.00
•		
		77,355.00
		Add 15%: 11,603.25
		88,958.25

1 pc	radiator coolant	90.00 sn ?
1 pc	dashboard radio headset	380.00 sn ?
1 pc	ERP bracket	Ma 26.00 sn
1 pc	front number plate	$\sim$ 40.00 sn $\times$
		536.00 sn

To remove, cut out damaged parts, panel beating, welding, align, refix and to renew affected parts.

To focus headlamps. To check front wiring and lighting operation.

To remove and renew front wind-screen glass and conduct water leak test.

1800/ 4,500.00

Page: 4

50.00 201

180.00 1201

Your Reference : Z/19VC06/105716

Our Ref : 020 / MH

Page: 5

To remove and refit front seat assy trim board and carpet to facilitate repairing works.

To remove aircon condenser, pipes and driers. Vaccum and recharge gas

To remove front instrument panel assy and rewiring to facilitate repair works.

To remove front brake booster, brake master pump and steering column

250.00

To remove and refit engine assy in order to facilitate repairing works.

To putty and respray on affected portions.

2,800.00 X

Total

98,604.25

Note: Amount quoted above is subject to prevailing GST at time of tax invoice.

## LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer